

Q1)
Copy and complete this table


	Number
	Standard Form

	4500000000
	

	19300000000000
	

	
	8.2 x 1012

	82000000
	

	
	6.34 x 108

	0.000001
	

	
	2.134 x 10-6

	0.00000000072
	

	
	8.5 x 10-6

	
	3.68 x 10-10



Q2)
Find the value of the following, giving your answer in standard form.



a)
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Q3)
Which is greater 4.62 x 1012 or 1.04 x 1013, and by how much?

Q4)
The radius of the Earth is approximately 5.1 x 103 km? What is the radius of the Earth measured in cm?  Leave your answer in standard form.

Q5)
If x = 4 ( 105 and y = 6 ( 104 work out the value of

a)
xy

b) 3y

Exam style questions


Q6)
Evaluate
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, giving your answer in standard form













(1 mark)


Q7)
A book published in 1993 contained the following statement

At a constant 80 km per hour it would take 35 years to 

travel over the entire road network of the world.


Taking a year as 365 days, calculate the length of the road network 

of the world, giving your answer in standard form


(3 marks)


Q8)
Write down the following numbers in standard form



a)
56 000 000 000


b)
0.00078



d)
56 000 000 000 
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 0.00078
d)
56 000 000 000 
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0.00078













(4 marks)



Q1)


	Number
	Standard Form

	4500000000
	4.5 x 109

	19300000000000
	1.93 x 1013

	8200000000000
	8.2 x 1012

	82000000
	8.2 x 107

	634000000
	6.34 x 108

	0.000001
	1 x 10-6

	0.000002134
	2.134 x 10-6

	0.00000000072
	7.2 x 10-10

	0.0000085
	8.5 x 10-6

	0.000000000368
	3.68 x 10-10












(1 marks each, 10 marks)


Q2)
a)
9.66 ( 105

b)
3 ( 10-3
c)
2.5 ( 105

d)
4 ( 103

(1 marks each, 4 marks)


Q3)
1.04 ( 1013 is biggest by 5.78 ( 1012




(2 marks)


Q4)
5.1 ( 103 ( 1000 ( 100 = 5.1 ( 108 cm




(2 marks)


Q5)
a)
2.4 ( 1010


b)
1.8 ( 105





(1 mark each, 2 marks)

Exam style questions


Q6)
3.81 ( 10-11 (to 2 dp)






(1 mark)


Q7)
35 ( 365 ( 24 = 306600 ( 80 = 24528000 km

2.4528 ( 107 km













(3 marks)

Q8)
a)
5.6 ( 1010




b)
7.8 ( 10-4


c)
4.368 ( 107



d)
7.179 ( 10-13 (to 3 dp)



(1 mark each, 4 marks)
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